U

J\X\
A

U

lDD@@D@ <> 000000000000‘

OO o o 2 0000

1K "
(e

G

DESKTOP TV MOUNT

ASSEMBLY INSTRUCTIONS




@i

B (x2) C (x2) D (x1)
M6x16 (x4) M6x4 M6x25 (x4) M6x30 (x4)
E F G H
I (x1) J(x1)

M5x14 (x4) M6x14 (x4) M6x30 (x4) M8x30 (x4)

M-A M-B M-C M-D

(i i) 0 )

MBXISE)E(X4) M-F (x4) M-G (x8) M-H (x8)

Note: Before installation, please make "

sure the front side face toward the
viewing direction. Otherwise, you will
find the TV difficult to adjust.

=

Sook

iy
]

|

Backside

C— >

M-C/M-D




